) dN/dy

(LN

Ratio to CMS

o
\l

o
o

0.4

0.3

0.2

0.1

0.5

7000 GeV pp
I'I'I'I'|

L L R R B B B
lY|(KOS) (NSD, y| < 2)

CMS
Herwig 7.1.6 default
—a— Pythia 8.170 default

|
--3--

Rivet 3.1.10, = 400k events

N n n ] ] - - ]
— A — A ‘\A—A—w H
- O----- EF----- o------ E}----- o------ F3----- - - - .
N | | | | | | | | | | | | | | | | [ [ ]
e L L LI
A A Y SE—— A& A S —A |
- -
L G- EF----- a------ FF----- 2------ E3----- - = —
| R S T I N S T I N S T I N S T |
0 0.5 1 1.5 2
0
Ks Iyl

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


